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 is the displacement of point B in x direction and [image: image4.png]v(x)



 is the transverse displacement of beam in y direction.
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, transverse displacement can be calculated from beam theory (a polynomial order of degree 3):

[image: image8.png]v(x) = cx*(3L —x)
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 is a constant.
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The above equations are used for the sinusoidal motion of the beam:

[image: image13.png]v(x) = cx*(3L — x)sin (t)




The slope of the beam for small deflection: [image: image15.png]avix)
.




So the velocity will be the time derivation of the above equation of the motion.
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